
■ 左の数と上の数をかける4ます計算を使って、かけ算の答えを求めましょう。

① 67 × 44

67

44

60

7

40 4

67 × 44 ＝

A.60×40 B.60×4

C.7×40 D.7×4

A＋B＋C＋D

② 76 × 13

76

13

70

6

10 3

76 × 13 ＝

A.70×10 B.70×3

C.6×10 D.6×3

A＋B＋C＋D

③ 82 × 88

82

88

80

2

80 8

82 × 88 ＝

A.80×80 B.80×8

C.2×80 D.2×8

A＋B＋C＋D

④ 21 × 37

21

37

20

1

30 7

21 × 37 ＝

A.20×30 B.20×7

C.1×30 D.1×7

A＋B＋C＋D

⑤ 48 × 96

48

96

40

8

90 6

48 × 96 ＝

A.40×90 B.40×6

C.8×90 D.8×6

A＋B＋C＋D

⑥ 88 × 94

88

94

80

8

90 4

88 × 94 ＝

A.80×90 B.80×4

C.8×90 D.8×4

A＋B＋C＋D

⑦ 26 × 56

26

56

20

6

50 6

26 × 56 ＝

A.20×50 B.20×6

C.6×50 D.6×6

A＋B＋C＋D

⑧ 79 × 79

79

79

70

9

70 9

79 × 79 ＝

A.70×70 B.70×9

C.9×70 D.9×9

A＋B＋C＋D

⑨ 63 × 24

63

24

60

3

20 4

63 × 24 ＝

A.60×20 B.60×4

C.3×20 D.3×4

A＋B＋C＋D

⑩ 86 × 11

86

11

80

6

10 1

86 × 11 ＝

A.80×10 B.80×1

C.6×10 D.6×1

A＋B＋C＋D

⑪ 38 × 98

38

98

30

8

90 8

38 × 98 ＝

A.30×90 B.30×8

C.8×90 D.8×8

A＋B＋C＋D

⑫ 75 × 62

75

62

70

5

60 2

75 × 62 ＝

A.70×60 B.70×2

C.5×60 D.5×2

A＋B＋C＋D
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■ 左の数と上の数をかける4ます計算を使って、かけ算の答えを求めましょう。

① 67 × 44

67

44

60

7

40 4

67 × 44 ＝

A.60×40 B.60×4

C.7×40 D.7×4

A＋B＋C＋D

2948

2400 240

280 28

② 76 × 13

76

13

70

6

10 3

76 × 13 ＝

A.70×10 B.70×3

C.6×10 D.6×3

A＋B＋C＋D

988

700 210

60 18

③ 82 × 88

82

88

80

2

80 8

82 × 88 ＝

A.80×80 B.80×8

C.2×80 D.2×8

A＋B＋C＋D

7216

6400 640

160 16

④ 21 × 37

21

37

20

1

30 7

21 × 37 ＝

A.20×30 B.20×7

C.1×30 D.1×7

A＋B＋C＋D

777

600 140

30 7

⑤ 48 × 96

48

96

40

8

90 6

48 × 96 ＝

A.40×90 B.40×6

C.8×90 D.8×6

A＋B＋C＋D

4608

3600 240

720 48

⑥ 88 × 94

88

94

80

8

90 4

88 × 94 ＝

A.80×90 B.80×4

C.8×90 D.8×4

A＋B＋C＋D

8272

7200 320

720 32

⑦ 26 × 56

26

56

20

6

50 6

26 × 56 ＝

A.20×50 B.20×6

C.6×50 D.6×6

A＋B＋C＋D

1456

1000 120

300 36

⑧ 79 × 79

79

79

70

9

70 9

79 × 79 ＝

A.70×70 B.70×9

C.9×70 D.9×9

A＋B＋C＋D

6241

4900 630

630 81

⑨ 63 × 24

63

24

60

3

20 4

63 × 24 ＝

A.60×20 B.60×4

C.3×20 D.3×4

A＋B＋C＋D

1512

1200 240

60 12

⑩ 86 × 11

86

11

80

6

10 1

86 × 11 ＝

A.80×10 B.80×1

C.6×10 D.6×1

A＋B＋C＋D

946

800 80

60 6

⑪ 38 × 98

38

98

30

8

90 8

38 × 98 ＝

A.30×90 B.30×8

C.8×90 D.8×8

A＋B＋C＋D

3724

2700 240

720 64

⑫ 75 × 62

75

62

70

5

60 2

75 × 62 ＝

A.70×60 B.70×2

C.5×60 D.5×2

A＋B＋C＋D

4650

4200 140

300 10

かけ算
年 組 名前
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